Pose les calculs suivants: \ @

2) 173,09 + 280,613 + 52 464 =

1) 4682 x 71 =

3) 49 264 — 6 872,39 =
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/ Pose les calculs suivants:

1) 89 x 9 841 =
2)28 269 + 3 672,3 + 1,54 =

3) 5 396,24 — 3 897,86 =
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/ Pose les calculs suivants:
1) 89 x 9 841 = 875 849

2) 28 269 + 3 672,53 + 1,54 = 31 942,84

3) 5396,24 — 3 897,86 =1 498,38

/ 6 73 3 \
9 8 4 1
X 8 9

— — — — — — — — —

N @ T | N
I{ 2 8 I
I
: 3 6 3 |
I + 5 4 :
I
| 3 1 9 8 4 |
% | |
| I
\ I
/
\\ ______________ //

4 12 1
N G N
- 3.8 9 7,8 6
1 4 9 8, 3 8

—— — — — — — — — — — — — —

http://www.lamaisonenfolie.be

X i

i

{o



/ Pose les calculs suivants:
1) 8 756 x 600 =

2) 3 258,73 + 9 676,98 =

3)3018,513 — 1 709,72 =
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Pose les calculs suivants: ( :) [ 1 — |
1) 8 756 X 600 = 5 253 60O | |
| 3 2 5 8 7 3 |
2) 3 258,73 + 9 676,98 = 12 435,71 | |
I + 9 6 7 6, 9 8 |

_ - |
3) 3 018,513 — 1 709,72 = 1 308,793 I I 2 9 3 5 7 1 |
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1) 3 948 x 800 =
2)28 167 + 5 463,1 + 0,47 + 816 =

3) 2 300,4 — 1 920,857 =

/ Pose les calculs suivants:
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Pose les calculs suivants: [
I 2 8 1 6 7 I
1) 3 948 x 800 = 3 158 400 |
| 5 4 6 3, 1 |
2)28 167 + 5 463,1 + 0,47 + 816 = 34 446,57 | |
I 0, 4 7 |

_ _ I
3) 2 300,4 1 920,857 = 379,543 | + 8 116 |
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Pose les calculs suivants:
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Pose les calculs suivants:

1) 1 031,6 x 2,31 = 2 382,996

2)2 420,357 + 1 318,652 + 258 =3 997,009

3)1 091,06 - 738,165 = 352, 895
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